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QUESTION 1

Which two statements are correct regarding MPLS LSP establishment methods? (Choose two.) 

A. LDP uses Down Stream On Demand. 

B. RSVP uses Down Stream On Demand. 

C. LDP uses Down Stream Unsolicited. 

D. RSVP uses Down Stream Unsolicited. 

Correct Answer: BC 

 

QUESTION 2

What are three ways an IP interface can be assigned to a virtual router in a PPP over ATM environment? (Choose
three.) 

A. profile 

B. policy list 

C. domain map 

D. RADIUS VSA 

E. classifier ACL 

Correct Answer: ACD 

 

QUESTION 3

Which term describes a group of packets sharing common forwarding characteristics? 

A. common forwarding class 

B. forwarding equivalence class 

C. equivalent class characteristics 

D. forwarding class characteristics 

Correct Answer: B 

 

QUESTION 4

Which two features protect the ERX Edge Router from denial-of-service attacks? (Choose two.) 
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A. rate limiting of ICMP 

B. RADIUS authorizations 

C. source address validation 

D. stateful firewall on the router 

Correct Answer: AC 

 

QUESTION 5

Which TCP port does LDP use for its protocol communications? 

A. 464 

B. 466 

C. 644 

D. 646 

Correct Answer: D 
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